Algebra 2 Level 9
Summer Packet

® This packet is designed to help you retain the information you
learned in Algebra 1 and realize what skills are essential for you as

. you enter Algebra 2.

e This packet will be due Friday September 5" 2014.

® Please show all your work on the packet. If no work is shown, no
credit will be given! Please place all answers on the answer sheet.

® Here are some online resources you can use to help you if you are
having trouble. There are also many others you can find using a
google search.

1. Khan Academy
2. Purple Math
3. Google Math Tools

In preparation for this class, we recommend you arrive on the first day of
class with the following supplies:

e 17%” or 2” 3 ring binder

e loose leaf paper or notebook

e Dividers for your binder

e Handheld pencil sharpener

e Scientific calculator
® Agraphing calculator (TI-84plus) is recommended for students who

plan on taking AP Calculus and/or AP Statistics during high school.
e Pencils
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Name: : 3 - =
Algebra 2 Level 8 Summer Packet: This packet s for all students entering Algebra 2 (9}

All work must be shown for credit. The packet is due on Friday September 5 2014 All
answers should be placed on the answer sheetL. All work should be placed on the space

provided.

L Simplify. .

16— (49+7-4+10)+5(9 —10)3
2. Which property is shown Eythé following? (*b)*c=a*(b¥*c)

A} Commutative Property of Muftiplication

B.) Associative Property of Multiplication

C) Substituiion

’,D.) Distributive Property

-3 Which property would be used to solve the first step of this equation?

3x—2
4

A )Addition Property of Equality
B.)Subtraction Property.of Equality
C )Multiplication Property of Equality -

D:jSubstitution

4. Solve each proportion

3v+8 v+6

10 9




For questions 5-9, Solve each equation.

5. 4(2.n+3)=—(n—-8)+7n

6. -1 +6n=——(1—5n)—-4n

7. A(x+6) - (4x+24=D

T

i lg——3Jc=3 —2—x'+1
4 413

A _4+5(—7—n)=3n—4(—3+2n)




Solve each inequality and graph its solation.

10. 12+ 6k<5(1+ &)
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11. —7(2b+5)+6>—6b+5(b +2)
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Solve each compound inequality and graph its solution.
6+ 6k>0and 5k—8<37

&
K

12

Y 1-2n<-8-nor9n-1<2n-8
———
% % T T

I
T
-2 0 2

B
[0
oo
.4
=
1
—
it 8
g

4. 8b+9<7b+3<8-10
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Solve each equation.

15.  5_10|87+5]| =45

Solve each inequality and graph ifs solution.

16.
|x-6] <1
ik L. i 1
b e T T } o 1 =
3 4 5 ; 7 ; g 10
4
17.
|10 - 57 +1>26
76-5-4-3-2-10123 4567 8 910
18. 7-8|9%k—6] <55
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Find the slope of the line that goes throngh the given poinis.
19) (31' "'8)1 (_71 _’3)
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= . A, Whatis the apparent xintercept 7

* R

B. - What is the apparent y-intercept?

- i

.'.- C. Whatisthe sldpe df the liﬁg? 2

Pres .. ]
: 4

21)3x+5y=22

A Piﬁd the slope of the line.

» B. Find the y-intercept
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Graph the linear equ 1

24)

0

y+3

T~

- -54+y-

4 -




P o= l
Usec the slope-intercept form of the Iinear equafion to write the equation of the line with the given s‘lope and y-infercept

25) Slope - %; y—intercept 8

Whrite the slope-intercept form of the equaﬁoh of the line through the given point with the given slope.

26. hrough (2, -5), slope=—

‘Write the slope-intercept form of the equation of the line through the given points.

57, through: (—3,-3) and (3,1) 28. through: (2, 4) and (2, -3)

Write the slope-intercept form of the equation of the line described.

1
. 28. through: (3, —-1), parallcl to y =§x +1



Write the slope-intercept form of the eguation of the line that is perpendicular to the given line.

30. through (-4, 6) and perpendicalar ta 2X +3y=-8

~

31. Cynthiza and her father planted a tree in
their front yard 8 years ago. The trec Was
9 meters in height when it was planted.
The scatterplot below shows how the
height of the tree increased cach ycar.

Tree Height Over Time
P ) ‘Which of the following most closely
£ ) approximates the equation of the line
8 * of best fit for the data points in the
= scatterplot?
,_\6 S L A S bt —2x+ 2 o o D
R | ; : '
5% 1 ; [ B y=2x+t2
A € y =,—-%x +2
2
D y= %x S
= B P
0 5 2 3 4 5 6 7 & -
Time Since Planting
(years)

Given the function, find the indicated value.
Find f(-2) when f(x) = 2x2 + dx + 4



Craph the linear inequalify.

33 3x +5y>-15

............

Solve each system by graphing.

34. y=-5x—-1 351 3x+y=—1
y=—x+3 3x+y=4
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Solve each system by substifution.
37. y=5x—15

36. y=2x+4
y=—Tx+9

—2x—4y=-16



-

Solve each system by elimination.

38. —x+y=5 : - 39. —10x—4y=12
Ix+y=3 ) 20x+ 8y =-24

40. 7x—-3y=15
3x—5y=-1

41, Danielle and Darryl are selling pies for a school findraiser. Customers can buy apple pies and lemon
—  meringue pies. Danielle sold 3 apple pies and 7 lemon meringue pies for a total of $172. Damyl sold 14
apple pies and 11 lemon meringue pies for a total of $391. Find the cost each of one apple pie and one

lemon meringue pie.

Evaluate each function.

42. h(x)=x* + -l—xz; Find h(— l)
4 2

Sketch the graph of each line.

43, x=-3
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Anthony plotted the point P(2,5) on a coordinate grid, as shown below.
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Anthony then graphed line g on the same coordinate gnd.
- Line g contains point P.
- The y-intercept of line g is the point with coordinates (0, 4).

; 2

a. What is the slope of line g? Show or explain how you got your answer.

b. Wnte an equation of line g. Show or explain how you got your equation.

Anthony also graphed line n on the same coordinate gnd Line n contains point P aod is
perpendicular to hine g.

c. What is the slope of hine n7 Show or explain how you got your answer.

d Write an equation of line n. Show or explain how you got your cquation.



- 45 "Mr. Gomez's mathematics-test consists of multiple-choice and short-answer quéstions ofly.
- Each mmltiple-choice question is worth 3 pomnts.

- Each short-answer question is worth 5 points.

Let x and y be defined-as follows:
- x = the mumber of multiplechoice questions ‘ -
« y = the npumber of short-answer questions ]

a. The test has a total of 30 questions. Write an equation in terms of x and y that represents
this fact

b. Write an expression in temms of x that represents the total poinf value of a]l'thc. mulfiple-
choice questions.

r

c. Write an expressitn in terms of y that represents the total point value of all the short-answer
queshons. " i

d The test has a total of 100 points. Write an equation in terms of x and y that represents
this fact '

e. Use your equations from parts (a) and (d) to determine how many mﬂﬁpk&oicﬁ.qucsﬁons
and how many short-answer questions are on the test Show your work :



